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Vereinfachung von Exponentenausdriicken

Name:

9x(—8)(x(—2))4

62 (x2)(3)

7 (x(—3) )5

x(—2) (x2 )4

6X8 (XS )ZX(—?))

s

4 ()2

Datum: Ergebnis:

5x8 (x6 )3
3x3 (x(—Z) )3

32 (xH N2

55D (x5 )(—2)
2x(—2) (x4 )3

2O () Dy

A (D)
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Vereinfachung von Exponentenausdriicken

Name:

9x(_8)(x(_2))4
6x(—2)(x2)(=3)
3

2,8

7 (x(—3) )5

XD (24
7

x25

6X8 (XS )ZX(—?))

6x15

Py

14

4 ()2

453

Datum: Ergebnis:

5x8 (x6 )3
3x3 (x(—Z) )3
é x29
3

32 (xH N2
3

X3

55D (x5 )(—2)
2D ()
5

221

2O () Dy
2

x16

A (D)
4

x13
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